H & 0l & AHS B Ml A

tS KA ARI=SX/E2S - IIELAY)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
&0t 82,827,432 70,990,434 11,836,998
= 46,542,099
N 122,816
Il 2,609,3%4
Al 25,350,886
- 8,202,277
oy - 0t NE(MEISX/ER - IIFLNA) 30,106,136 26,695,211 3,410,925
= 15,741,663
N 16,000
Il 2,609,3%4
Al 8,473,35%
- 3,265,763
Oy - 50| disst Algl =8 10,335,448 8,631,332 1,704,116
= 4,112,375
Il 2,500,8%4
Al 2,427,379
- 1,294,840
HYHH 2dst 2 ARI&E0 = 11,500 11,500 0
201 er= 3| 500 500
01 At22t2l] 500 500
o4& sE2=(8=2 S) MH
100,000 55 500
203 HR=H| 1,500 1,500
03 A= PR 1,500 1,500
Oolg3s 29 43t 1,500,000& 1,500
307 gl2to| & 9,500 9,500
02 QI AAEE X 7,000 7,000
OZ=012I0dg g5 XNI& 2,000,000& 2,000
OLHE3tE K& Arg 5,000,000 5,000
04 QIZHHAIAIRH 2 & 2,500 2,500 0
Oogyggs2 A A& 2,500,000& 2,500
Hyo ssMHE & AAs 1,800 12,400 10,600
201 er2 3| 1,800 12,400 10,600
01 AtR2telHl 1,800 12,400 10,600
Oldsaiig & S 822 MR
500,000 22 1,000
OOtE0H2 a8 o M
150,000 *1H 150
OdHESTSA & M=
50,0002 * 137K 650
=L H8ls =9 2,700 2,700
201 er2 3| 1,900 1,900
03 A= I 1,900 1,900




fA: odots
B 0l4 - Obs K 014)
el o4 - J1=0] & EER=E)
R - Y ) - HISAE) - S of v e HIDE2
OLEX o 420,000 420
OZAts=& 370,000& x4 1,480
301 LEtE S 800 800
11 AR 800 800
O2EX ¢ 200,000 43 800
e Al & 2,620 2,800 A180
201 22 g 1,810 1,900 A0
01 A2 1,000 1,000 0
OGHEIStEAl 222
500,000& 22 1,000
03 A= SHI 810 900 A0
O dalatzAlrd AMEHA Sgdat 3
= 810,000& 12 810
301 LEtE NS 810 900 A0
11 AALAHIXIES 810 900 A0
O &St E Al
810,000& 12 810
FRIEE=SAA A& 3,176 4,000 N824
Jl 1,588
Al 1,588
307 elztol & 3,176 4,000 N824
) 1,588
Al 1,588
IRAIPATIE=N 3,176 4,000 A824
OstR2) ggodg A
3,176,000 3,176
Jl 1,588
Al 1,588
FEIE=SXAE Ot0ISS 5,800 3,059 2,741
Il 4,060
Al 1,740
307 elztol & 5,800 3,059 2,741
Il 4,060
Al 1,740
11 MBS XA 5,800 3,059 2,741
OstR2ItE= SSANHIA X
5,800,000 5,800
Il 4,060
Al 1,740
SRS SXAE 24 307,237 0 307,237
Al 307,237
307 @120l & 307,237 0 307,237
Al 307,237
10 A2 S XIAIE 307,237 0 307,237




A Hdotst
B 014 - 0l KB (MEI=X/2S - IIEL0I4)
oelr e - OIS0l eS8 Atel =8 (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OBIEEIIE=XAIA o12tEl & =ul X
& 307,237,000& 307,237
Al 307,237
SIRERIIESNAIE MHEHEZ20 X 1,050 0 1,050
Al 1,050
307 gIzHol 1,050 0 1,050
Al 1,050
11 Al SXAMEES 1,050 0 1,050
OtR2IE=TAE HEEZ208 X2
1,050,000& 1,050
Al 1,050
SIRRIIE K2 843 8,000 8,000 0
301 LPENSZ 8,000 8,000
02 AISI 2GS (FHAAS, RLTHR) 8,000 8,000
Ost22its 49E X(ZSYERAZ)
100,000 x40 4,000
OstREIt= HWItMEl X3
100,000 *40H 4,000
MOt S22t K& 3,012,600 3,072,375 ANBQ,775
| 2,410,080
Al 602,520
301 LPENS 3,012,600 3,072,375 ABQ,775
| 2,410,080
Al 602,520
01 A BEAH 2 (RREETA) 3,012,600 3,072,375 ABQ,775
ORIIE MHL=EH S NFAE
3,012,600,000& 3,012,600
| 2,410,080
Al 602,520
NEZZHMEAL 2GR 146,710 141,280 5,430
| 73,355
Al 73,355
307 212+01 ™ 146,710 141,280 5,430
| 73,355
Al 73,355
10 AlSISEXAEHE2ZHIEX 146,710 141,280 5,430
OJtEZHagA 2R
146,710,000& 146,710
| 73,355
Al 73,355
Ny =HAMNTA =X XA 31,747 0 31,747
Al 31,747
307 gI2Hol ™ 31,747 0 31,747
Al 31,747




fA: odots
M o4 - ots XA(ASEX/E] - IIEFLHA)
SRl Od - JIR0l E=E Alel = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 31,747 0 31,747
ONEESNEA ST 4L X
31,747 ,000& 31,747
Al 31,747
JHEEE Lokt Xs3s =20 4,633 5,768 AT1,135
Il 3,243
Al 1,390
307 elztol & 4,633 5,768 AT1,135
Jl 3,243
Al 1,390
1 AMISXAIEEXS 4,633 5,768 AT1,135
ONE=S DK XRE= T2
4,633,000 4,633
Il 3,243
Al 1,390
ARorgolEa N2 1,857,000 1,708,000 149,000
= 1,393,000
Al 232,000
- 232,000
301 22N 1,857,000 1,708,000 149,000
= 1,393,000
Al 232,000
- 232,000
01 Al EE A S(FRDEXA) 1,857,000 1,708,000 149,000
oxgtgolEd X& 1,857,000,000& 1,857,000
= 1,393,000
Al 232,000
- 232,000
SNEd=s N 434,000 484,000 50,000
301 Eet2 NS 434,000 484,000 50,000
02 ANRI2HHSHS(HAAS, NLHE) 434,000 484,000 50,000
Os4tdEeig X 500,000 +868H 434,000
=MolZ= SMXE= 421,000 0 421,000
Al 421,000
301 EtE2 NS 421,000 0 421,000
Al 421,000
02 A2 XSG (FHAAHS, W) 421,000 0 421,000
OSMol= 240t SMXE=
421,000,000& 421,000
Al 421,000
otol==SXIH 3,871,965 3,107,275 764,690
= 2,710,375
Al 580,795




FA: H4ots
g3 od - ot
el od - JER0

Bt Atsl =8 (Erol &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 580,795
307 212+01™ 3,871,965 0 3,871,965
= 2,710,375
Al 580,795
- 580,795
11 AL =SXAMEES 3,871,965 0 3,871,965
Ootol=sXI& 3,871,965,000& 3,871,965
= 2,710,375
Al 580,795
- 580,795
HaU SIREITHE XA 10,660 27,275 A16,615
J| 8,528
Al 2,132
301 LPBNF 10,660 27,275 A16,615
| 8,528
Al 2,132
01 AISIBE X 2GS (2 LEXTME) 10,660 27,275 A16,615
OFAEHSER G 10,660,000& 10,660
| 8,528
Al 2,132
FAEREE Ols2=Hl X3 At 18,000 24,000 26,000
= 9,000
Al 9,000
301 LPENSZ 18,000 24,000 26,000
= 9,000
Al 9,000
01 AISIBE X 2GS (2 RETME) 18,000 24,000 6,000
OFAEHRE Ots2=H| N3 AL
18,000,000& 18,000
= 9,000
Al 9,000
HE=g0Y E8MA 2529 7,000 7,000 0
201 LB-2AY| 3,000 7,000 24,000
01 AtR2telt] 3,000 7,000 24,000
OOLZH0lY SN TE2Y
3,000,000& 3,000
301 LPBNF 4,000 0 4,000
14 J|EtE A2 4,000 0 4,000
OZgdX us =& 4,000,000& 4,000
SHREIE MtHW=sH| X2 155,000 0 155,000
Al 155,000
301 LPENF 155,000 0 155,000
Al 155,000




fA: odots
M o4 - ots XA(ASEX/E] - IIEFLHA)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 185,000 0 185,000
O8R2I1E M4 &28H X
5,000,000& 5,000
Al 5,000
OBR2IIE X DEHI X
150,000,000 150,000
Al 150,000
SIS =HIE 4,800 0 4,800
Al 4,800
301 EetE NS 4,800 0 4,800
Al 4,800
02 ARSI 2 X LGS (FHAAHS, XNLWE) 4,800 0 4,800
SRS =AHXE 4,800,000& 4,800
Al 4,800
SHAIE 2=H| X2 1,800 1,800 0
301 EtE NS 1,800 1,800
02 A2 HGS(FHAAS, NLHA) 1,800 1,800
OBt RIS StAlE &=
200,0003 1 +H & 1,800
OlOI==0! HZZ &l K& 4,050 0 4,050
Al 2,025
- 2,025
307 @I2t01 & 4,050 0 4,050
Al 2,025
- 2,025
11 AMEISXAEEES 4,050 0 4,050
OO0t0I==20| AZzd8H| XA
4,050,000 4,050
Al 2,025
- 2,025
A W =5 2us L dlohkt X 10,600 10,600
201 ZBt=3hl 10,600 10,600
01 AtR2te|HI 10,600 10,600
OFF Hgus A8 S
5,600,000& 5,600
O3S - == TlchA delaedl A&
5,000,000& 5,000
ots=X 88 15,305,808 16,319,885 A1,014,077
= 10,244,022
Al 3,205,820
- 1,855,966
Ots=¢ XI& 11,356,266 12,437,500 A1,081,234
= 9,085,013
Al 1,589,877




FA: H4ots
g3 4 -0
thel: Ots=X

& EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 681,376
301 EtE NS 11,356,266 12,437,500 /1,081,234
= 9,085,013
Al 1,589,877
- 681,376
01 Al EE AT Z(2DEXR) 11,356,266 12,437,500 1,081,234
Olts=g 30 11,356,266,000& 11,356,266
= 9,085,013
Al 1,589,877
T 681,376
orss4 X 1,501,294 1,299,697 201,597
Al 1,005,823
- 495,471
301 EtE2 NS 1,501,294 1,299,697 201,597
Al 1,005,823
- 495,471
02 ARSI S2E AT S(FIANS, XLETHE) 1,501,294 0 1,501,294
ogggss =4 1,238,677,000& 1,238,677
Al 743,206
- 495,471
OEgdEsd =4 262,617,000 262,617
Al 262,617
AEotsdE 249 & K& 28,500 28,500
307 glztol & 28,500 28,500
11 AMEISXIAEEES 28,500 28,500
ONAOISHE S dirg|
300,0003 %1704 A 5,100
OXIH0tsSHIE SAXHAIEE, MESSXIAH
ySESS) Falal 50,0002 «390H 122 23,400
NEOtSHE SAHA 935 5,000 5,000 0
201 2= 2,000 4,600 A2,600
03 A2 I 2,000 4,600 22,600
OXISOtSHIE SAHA /I3&
2,000,000& %12 2,000
301 EtE NS 3,000 400 2,600
11 dALEBIXNIZE S 3,000 400 2,600
OXNS0tsSHE SAHL 943&
3,000,000& %12 3,000
AEotsHE =8 stite 5,000 5,000
201 fet=3| 5,000 5,000
03 A= 5,000 5,000
OXISiotSHE o2d etitg
5,000,000& 12 5,000

XSEotsdE 22Hl A& 282,144 282,144 0




A HEOots
Ot
=X

I 04/\*- = I%( tEISX/E] - IELAHA)
x
6

SR
SA BB SL(BH) - NSAY - B 0l o A
= 141,072
Al 70,536
- 70,536
307 CIZt0I A 282,144 282,144
= 141,072
Al 70,536
- 70,536
10 Al =SXAEBHE2IHIEX 282,144 282,144
OX<E0lsHE Jl2eddl A
271,344,000 271,344
= 135,672
Al 67,836
2 67,8%
OXIAOISHE ZIH2FHl IR (CHIE 2
o B0l) 10,800,000& 10,800
= 5,400
Al 2,700
- 2,700
NSotsHlEy o1l XI& 1,29, 144 1,296, 144
= 648,072
Al 324,036
- 324,036
307 CIZ2tOI A 1,296, 144 1,296, 144
= 648,072
Al 324,036
- 324,036
11 MSIEXAIEE 1,29, 144 1,296, 144
OXIY0tsHIE Q1AH|l X
1,296, 144,000 1,29, 144
= 648,072
Al 324,036
- 324,036
Sa=8g N90tsHE K& 60,532 60,532
= 30,266
Al 15,133
- 15,133
307 QI2t0I A 60,532 60,532
= 30,266
Al 15,133
- 15,133
10 AISIS XA EEE2IHIE X 60,532 60,532
OS+==8g XY90ots4dH F=IF K&
60,532,000& 60,532
= 30,266




=M OIE0IS I
M o4 - ots XJ(ASEX/E] - IIEFLHA)
el Ots=A S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,133
T 16,133
EQEYE NFotSHE X 18,148 18,148 0
= 9,074
Al 4,537
- 4,537
307 lztol & 18,148 18,148 0
= 9,074
Al 4,537
- 4,537
10 Al2ISTIAIEEE2HIE X 18,148 18,148 0
OEL2Y XN4otsHE It X
18,148,000& 18,148
= 9,074
Al 4,537
- 4,537
Ots =X WAL THAXIZ 246,390 251,570 25,180
= 117,345
Al 58,673
- 70,372
101 ©1AH| 246,390 251,570 A5,180
= 117,345
Al 58,673
- 70,372
04 JIZtN22 XS+ 246,390 251,570 25,180
OOHSSRI WAL THAXIR (13)
234,690,000 234,690
= 117,345
Al 58,673
- 58,672
OO0ts=X WAL SXEQE
300,000 %13 3,900
OO0IS=XIUAL SE A0 2
600,000& *13H 7,800
CIEl S At el21b] 366,360 357,420 8,940
= 183,180
Al 91,590
T 91,590
307 glztol & 366,360 357,420 8,940
= 183,180
Al 91,590
- 91,590
05 2ItRIE = 366,360 357,420 8,940




RZH 04/\4 .

FI'Q

(MEIEX/ES - IIELHE)

A HEOots
Ot
=X

= |

=}
=X
SC

Sl 0 (EHl: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLatH =S4 21|
366,360,000& 366,360
= 183,180
Al 91,590
- 91,590
CIEN S A 2181 AlEIFIIXI#A 60,630 60,630 0
Al 30,615
- 30,015
307 el2to| & 60,630 60,630 0
Al 30,615
- 30,015
05 git?(& = 60,630 60,630 0
OUEMN SsHE 28] AlHIFIHXIE
60,630,000 60,630
Al 30,615
- 30,015
Cietl Ss4dH X2 60,000 60,000 0
= 30,000
Al 15,000
- 15,000
307 elztol & 60,000 60,000 0
= 30,000
Al 15,000
- 15,000
05 git?(&=s 60,000 60,000 0
Otign =48 224 X
60,000,000 60,000
= 30,000
Al 15,000
- 15,000
CHEN SsSdE 29 14,400 9,600 4,800
307 212+01& 14,400 9,600 4,800
05 2ItRIE = 14,400 9,600 4,800
ot ssdH 224l X (XtH)
14,400,000 14,400
0glol =0l 2= 5,000 3,000 2,000
401 AIEHIX SO 5,000 3,000 2,000
01 AlZH| 5,000 3,000 2,000
OO0l =018 2+ S
2,500,000 *20H 2= 5,000
RESOS HEFY 4,464,880 1,743,994 2,720,886
= 1,385,266
N 16,000
Jl 108,500




fA: odots
M 04 - oS K2 (AE=SX/ES - IEL0Y)
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,840,157
T 114,957
OlsL=EAIE K& 1,445,272 3,000 1,442,272
Al 1,442,272
- 3,000
301 EtE N = 3,000 3,000
02 A2 XSG (FHAAHS, NSWE) 3,000 3,000
OOISYBAIL Ols ZEBE
1,500,000& 23] 3,000
307 21201 & 1,442,272 0 1,442,272
Al 1,442,272
10 Al SXAAEEHE 22X 1,442,272 0 1,442,272
O0tsg=AIE XA 1,442,272,000& 1,442,272
Al 1,442,272
RS 0ts NI 133,857 0 133,857
Al 93,700
- 40,157
301 EtE N = 133,857 0 133,857
Al 93,700
- 40,157
02 NBI2HHSFS(HAAS, NLHE) 133,857 0 133,857
Ogds+d K& 132,857,000& 132,857
Al 93,000
- 39,857
O=37gd N2 1,000,000& 1,000
Al 700
- 300
tE g ols X3 (HE2) 36,000 36,000 0
= 25,200
Al 10,800
301 EetE NS 36,000 36,000 0
= 25,200
Al 10,800
01 Al 2E A S(SRNEXMHE) 36,000 36,000 0
OJEAE X ANMNS (B E)
1,000,000 «3E 1204 = 36,000
= 25,200
Al 10,800
== NION L= 4,200 4,200
301 LEtE N = 4,200 4,200
02 A2 XSG (FHAAHS, NSWE) 4,200 4,200
OJIHSIE0IE Hai3 L +50igy T2
100,000 42 4,200
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fA: odots
M 04 - oS K2 (AE=SX/ES - IEL0Y)
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,281
301 EtE NS 4,270 4,270 0
= 2,989
Al 1,281
01 Al E2E AL S(FRDEXMA) 4,270 4,270 0
OgLIHEAE OIS M2l N
118,600 x 1201 2«3 4,270
= 2,989
Al 1,281
Ye=ol=s K& 2,000 0 2,000
Il 1,400
Al 600
301 EtE NS 2,000 0 2,000
Jl 1,400
Al 600
01 Al 2E A S(FRNEXMA) 2,000 0 2,000
Ogg=xots NE 200,000 %10 2,000
Jl 1,400
Al 600
OrsEE XA %t 869,901 340,000 529,901
= 608,931
Al 260,970
301 EtE N = 869,901 340,000 529,901
= 608,931
Al 260,970
01 Al EE A S (2 RNEXMA) 869,901 340,000 529,901
OOtsZE XN A2 K&
869,901,000 869,901
= 608,931
Al 260,970
HAZS0(0ISAIE) 154,000 140,000 14,000
= 138,600
Al 15,400
307 elztol & 154,000 140,000 14,000
= 138,600
Al 15,400
1 AMEISXAIEEXS 154,000 140,000 14,000
OMASH(OtSAIE) 154,000,000 154,000
= 138,600
Al 15,400
Ols s AIE SZ2oHMl(etE2eldl) 2,000 0 2,000
Al 2,000
307 gl2to| & 2,000 0 2,000




=M OIE0IS I
M 04 - oS K2 (AE=SX/ES - IEL0Y)
el RES0ls HEsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,000
11 AMEISXAEEXS 2,000 0 2,000
OO0ts¢EAIE etd2te|]
2,000,000& 2,000
Al 2,000
OlSYSAIE AEFHHI 26,357 0 26,357
Al 26,357
307 lztol & 26,357 0 26,357
Al 26,357
11 ARRIS XA E X 26,357 0 26,357
OOtS=AIE AEFHH|
26,357,000 26,357
Al 26,357
HetSE3(Ad, 3s4E, JHEEA) 21,000 0 21,000
Al 21,000
301 EtE N = 21,000 0 21,000
Al 21,000
02 MBI 2HHSFHS(HAANS, KLHE) 21,000 0 21,000
olss==s N 17,500,000 17,500
Al 17,500
otststEtla X 3,500,000& 3,500
Al 3,500
2SE=0ts NHEFE X 378,000 336,000 42,000
= 302,400
Al 75,600
301 22N = 378,000 336,000 42,000
= 302,400
Al 75,600
01 A2 HSHS(RNEERTHE) 378,000 336,000 42,000
OE=5=0ts NHE+E
378,000,000 378,000
= 302,400
Al 75,600
NEEEHS(ANE, SSdE, HEAe) 140,000 0 140,000
Al 115,000
- 25,000
301 EtE NS 140,000 0 140,000
Al 115,000
- 25,000
02 MBI 2HHSFHS(HAANS, XLHE) 140,000 0 140,000
OAlZ0tS Neda=s 90,000,000 90,000
Al 90,000
OHE?I&0ls HEEHS
50,000,000 50,000




fA: odots
M 04 - oS K2 (AE=SX/ES - IEL0Y)
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 25,000
T 25,000
AR SOIS AERIE 8,200 10,500 22,300
= 5,740
Al 2,460
301 EtE NS 8,200 10,500 /2,300
= 5,740
Al 2,460
01 Al EEHS(FRDEXMH) 8,200 10,500 22,300
OZAHHots KMHERZA 8,200,000& 8,200
= 5,740
Al 2,460
2S0tsSXIE 20,000 28,500 28,500
N 16,000
Al 2,000
- 2,000
201 2= 6,000 7,500 21,500
X 4,800
Al 600
- 600
01 AtR2t2|HI 6,000 7,500 21,500
230ts J12=224| 6,000,000& 6,000
N 4,800
Al 600
- 600
301 EtE NS 14,000 7,500 6,500
N 11,200
Al 1,400
- 1,400
01 Al EE A S (2 RDEXA) 14,000 7,500 6,500
230ls MBIAZEH] 14,000,000 14,000
Xl 11,200
Al 1,400
- 1,400
22PS0ts 188 24 713,265 616,685 96,580
= 285,306
Al 427,959
307 21201 & 713,265 616,685 96,580
= 285,306
Al 427,959
10 Al SXAEEHE 22X 713,265 616,685 96,580
OREsOls 88 =24
713,265,000 713,265




2A: -dot=s
Hi: 4 - 0l X (AEIEX/ES - IIESL0A)
el RES0ls HEsd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 285,306
Al 427,959
RES0ts Q88 22 AHIFIHRIE AL 289,958 0 289,958
Al 289,958
307 QIZ2t01 A 289,958 0 289,958
Al 289,958
10 Al S XA EEHE2IHIE X 214,849 0 214,849
OSSHEINE SAL SX=H(AlEl 42
JH&HI) 140,278,000& 140,278
Al 140,278
OSSMEIIE SALAL SKIELIE
2,000,000& 2,000
Al 2,000
OSSHEIE SAA AIZI2R2+E
8,633,000& 8,633
Al 8,633
Osiotsde Ss4HEIE 2SN
58,538,000& 58,538
Al 58,538
O3 SMEIIE otM2te|d]
5,400,000& 5,400
Al 5,400
11 AR SXAMEER 75,109 0 75,109
OSSMEIIE ES0t=s XA
75,109,000 75,109
Al 75,109
SSMEIE SAA HRME XA 14,400 14,400 0
307 212+01 A 14,400 14,400
11 AR SXAMEET 14,400 14,400
OSSMEIE SAR HRIH&HI
60,0002 x20H 122 14,400
OtSSHEAL X 26,200 27,200 A1,000
201 Ler2 | 25,200 25,200 0
01 At 22|l 23,400 23,400 0
OOI=&l s ?Iet 222 A
1,000& *1,5004 1,500
OOt NG IS 2A MHEGEH| XA
30,0002 *365 2 x2H 21,900
02 32| 1,800 1,800 0
Oges FUd3| MER2
1,800,000& 1,800
203 AR F=&lY| 1,000 1,000
03 Al FRIHRFXIY| 1,000 1,000
Oots&l e ¥ 25 43t
1,000,000& 1,000
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2A: -dot=s
T BEAHIA HB(MEIZX/2S - IEL0A)
o9l BRI =2 BRAMHIA M2 (crol: m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 HAAHIXIE S 1,200 1,600 A400
OALDSEH 24l
3,000 x200H *23] 1,200
EFAE 2EXA 1,610,966 310,500 1,300,466
Al 1,494,463
- 116,503
307 gI2tol ™ 1,610,966 310,500 1,300,466
Al 1,494,463
- 116,503
10 AISISXAIEHE2ZHIEX 797,366 310,500 486,866
OR4HE Aol 2 X2l
256,862,000& 256,862
Al 256,862
O0gloly s&sts Y 23tdAl XA
63,490,000& 63,490
Al 63,490
OCIAHINIANHS 01 X2 K&
13,800,000 13,800
Al 13,800
OO0t E0lE Z2lAZ MElA XIJ
830,000 830
Al 830
OJ12E=Z X HS 01 Zel& oAbl X
# 90,000,000& 90,000
Al 90,000
OZ O 20201 ERO0F HNMEX 2
X2 1,640,000& 1,640
Al 1,640
OZOHOIHEI0IE XHEDIAF Q1H4H] X
26,400,000& 26,400
Al 13,200
- 13,200
OO0glold =2talll X2 AlHIAM
344,344,000& 344,344
Al 241,041
- 103,303
11 Al =SXAMEES 813,600 0 813,600
OJ2AESZ XN JANHI0E EFWAL K=
=4 654,000,000 654,000
Al 654,000
OCIAHINIANZO0IE EFWAI SXI=
21,600,000& 21,600
Al 21,600
ORMWLK0IO0IE BRIA S4224
= 60,000,000 60,000
Al 60,000




FA: H4ots
T BEAHIA HB(MEIZX/2S - IEL0A)
o9l BRI =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ S ROL0I0IE XISAt 2R2Hd
]l 6,000,000& 6,000
Al 6,000
OJIZ2SSXA001E EFWA 12
Hag 72,000,000 72,000
Al 72,000
S=AE 22 (XEA) 297,980 0 297,980
307 glztol & 297,980 297,980
28= 49,480 49,480
O0elold &S M= 49,480,000 49,480
10 Al SXAAEEHE 22X 104,500 0 104,500
O0elold & - eyl Xa
88,000,000 88,000
OO0y &2 SZoiell X
16,500,000 16,500
11 AMEISXIAEEES 144,000 0 144,000
ONglold EZuAt nE+g X
20,0003 6002 1201 2 144,000
BFuAE el2bl X2 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
T 789,925
307 elztol & 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
- 789,925
10 Al2IS XA EEE 22X 6,582,695 6,582,695 0
OEsuAd 14| XI&
6,582,695,000& 6,582,695
= 3,949,615
Al 1,843,155
- 789,925
SN MRS XA (ELWAXIRH]) 1,527,660 1,527,660 0
= 916,59
Al 427,745
- 183,319
307 212+01& 1,527,660 1,527,660 0
= 916,5%
Al 427,745
- 183,319
10 Al SXAI2EE 22X 1,527,660 1,527,660 0
SUDAN(HFEE HLLAY TE) L DA
ST X2 1,527,660,000& 1,527,660
= 916,5%




2A:
X XH -
o e

=aak

Haotsnt

S=SMHIA MBARIEX/ES - IIEELAY)

St =2 ESAMHIA WS

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 427,745
- 183,319
ERAI HME XN (EXZWAF 2124H]) 2,855,017 2,768,245 86,772
= 1,713,010
Al 799,405
- 342,602
307 2I2+01A 2,855,017 2,768,245 86,772
= 1,713,010
Al 799,405
- 342,602
10 IS SXAIEHE2ZHIEX 2,855,017 2,768,245 86,772
O8=x - AEMY WAL Q12|
2,855,017,000& 2,855,017
= 1,713,010
Al 799,405
- 342,602
oelold 29 X 81,327 74,274 7,053
= 48,79%
Al 22,772
- 9,759
307 2I2+0l ™ 81,327 74,274 7,053
= 48,7%
Al 22,772
- 9,759
10 Al S XA EEHE2IHIE X 81,327 74,274 7,053
(@IMPN ImEsts] 76,527,000& 76,527
= 45,916
Al 21,428
- 9,183
OXtse gl 4,800,000& 4,800
= 2,880
Al 1,344
- 576
FR0IEE=X 14,227,326 16,089,841 1,862,515
= 10,670,49%
Al 2,489,782
- 1,067,049
307 212+01™ 10,000 12,000 A2,000
= 7,500
Al 1,750
- 750
11 AR SXAMEER 10,000 12,000 A2,000




2A:

M B

X=]

Haotsnt
MHIA MBS (A

ta|=X/2= - J1F
DA =2 ESsAblA HIJ—

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OR0EH| A0S ORIGFESE
10,000,000 10,000
= 7,500
Al 1,750
- 750
308 AXIMSOIA 14,217,326 16,077,841 1,860,515
= 10,662,995
Al 2,488,032
- 1,066,299
13 S I2S0tHe 4 A AS A 14,217,326 16,077,841 1,860,515
OZRIES= 14,217,326,000& 14,217,326
= 10,662,995
Al 2,488,032
- 1,066,299
OI3-5M1 w28 EF= X 5,768,243 7,298,832 1,530,589
Al 5,768,243
307 @I2to1 & 1,416,063 1,698,832 N282,769
Al 1,416,063
10 Al SXAAIEEHE 22X 841,143 1,098,832 N257,689
OBI3-5M F2ltd 2
841,143,000 841,143
Al 841,143
11 AMEISXAIEEE 574,920 600,000 N25,080
O235M =l e EEuA MIHEHI
574,920,000 574,920
Al 574,920
308 XXM SOIA 4,352,180 5,600,000 A1,247,820
Al 4,352,180
13 S [2SOHe & EAS A 4,352,180 5,600,000 A1,247,820
OBIZ-5MI S2IHE E82
4,352,180,000& 4,352,180
Al 4,352,180
s 652,452 1,100,448 ANA47 9%
= 489,339
Al 114,179
- 48,934
301 LEetE2 N = 652,452 1,100,448 NA447,99%6
= 489,339
Al 114,179
- 48,934
01 Al EE A2 (2RNEXMR) 652,452 1,100,448 AN447,9%
ongdgs=g 652,452,000 652,452
= 489,339
Al 114,179




FA H-E0tsh
ZE: PEAHIA HD(MEIST/2S - HEL0IA)
el A =2 ESAHIA HS (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
| = 48,934
AMZHHIE2SAMEIA XIR 184,504 190,548 AB6,044
= 92,252
Al 64,576
- 27,676
307 gl2to| & 160,504 183,548 N23,044
= 80,252
Al 56,176
- 24,076
10 Al SXAAEEHE 22X 160,504 183,548 N23,044
OAIZHH 25 29 160,504, 000& 160,504
= 80,252
Al 56,176
T 24,076
308 AtXIEMSOIH 24,000 7,000 17,000
= 12,000
Al 8,400
- 3,600
18 SIS0t 4 A A A 24,000 7,000 17,000
OAIZHNl 252 24,000,000 24,000
= 12,000
Al 8,400
- 3,600
JZE2E2 X 0e0ld 23-5M RE2RHEESE X 442,966 0 442,966
!
Al 310,076
- 132,890
308 AtXIEMSOIE 442,966 0 442,966
Al 310,076
- 132,890
183 SIS0t 4R AS AL S 442,966 0 442,966
OL3-5M REE22E8E=S
442,966,000 442,966
Al 310,076
- 132,890
SFI2LIEHEHE 29 6,500 6,500 0
= 3,250
Al 2,275
- 975
307 212t01& 6,500 6,500 0
= 3,250
Al 2,275
T 975




FA: H4ots
T BEAHIA HB(MEIZX/2S - IEL0A)
o9l BRI =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 6,500 6,500 0
OFRI2LHEY 28 X2
6,500,000& 6,500
= 3,250
Al 2,275
- 975
SIENE0IE KNZ(HEAY) 526,000 0 526,000
Al 462,880
- 63,120
307 gl2to| & 526,000 0 526,000
Al 462,880
- 63,120
11 AMISXAIEEX 526,000 0 526,000
Os3g0eols X& 526,000,000 526,000
Al 462,880
- 63,120
SSEOE0E XcIF 1AH| 46,800 0 46,800
Al 46,800
307 21201 & 46,800 0 46,800
Al 46,800
10 Al SXAEEHE2EHI2x 46,800 0 46,800
OSEE0el0ld £eld el2b]
46,800,000 46,800
Al 46,800
20X e A3S 20,000 20,000
201 et23| 20,000 20,000
03 A= SHI 20,000 20,000
ORIl ESnNe 2
20,000,000 20,000
2250 (got==g) X 17,203,567 8,072,977 9,130,590
= 12,902,676
Al 3,010,624
- 1,290,267
301 EetE2 N = 17,203,567 8,072,977 9,130,590
= 12,902,676
Al 3,010,624
- 1,290,267
01 Al EE A2 (2RNEXMR) 17,203,567 8,072,977 9,130,590
OR220(Z0ot+) X
17,203,567,000& 17,203,567
= 12,902,676
Al 3,010,624
- 1,290,267
ASIEXNLREE MIELQE 2e|(ME-0{ -0t 24,652 23,701 951




A Hdotst
. BEMUIA HSMISX/ER - IIEL0E)
o9l BRI =2 BRAMHIA M2 (crol: m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 24,652 23,701 951
10 Al =RQAABAS 24,652 23,701 951
o== 750,000 x2H+ 12& 18,000
O1l=hl 316,000 x2H 632
OunEt| 3,400 x2H 222U x 128 1,796
O=AlH| 8,000 x2H 22 » 12& 4,224
CHAIZ=2IAF THA X2 AL 53,778 53,778
101 2124 d| 44,778 44,778
M IIRHMZ2Z2 RS2+ 44,778 44,778
OOIRI0IZ CHAIZ2IAF Q14| (2H) 44,7718
-Jles 56,600 2% 247 27,961
- =2 254
56,600 x2H «67 7,585
- B8z 180,000 x2Z*12& 4,320
- =XNEQE 300,000 *2H 600
- GESOtI 600,000 x2H 1,200
- S &NE = 1,566,000 »2H 3,112
207 AR HI 9,000 9,000
02 HADNEY| 9,000 9,000
OUXZCIAL &1 SHOIXI W
9,000,000& 9,000
Hglold Algt NE - A= X3 303,230 303,230
201 B2 AY| 2,000 2,000
01 At=R2teld| 2,000 2,000
OeHz = s2=8 M&
2,000,000& 2,000
301 LB F 301,230 301,230
02 ASIBEEHS(FHLHS, NYME) 301,230 301,230
ONglolE Al A - A5 K&
9,000 +3,347Z *10& 301,230
HYSAAHI (A0S (DIEHDIIEH 297,233 167,702 129,531
= 14,407
Xl 106,816
Al 20,555
- 155,455
gl (6 &otsa) 60,49 66,160 Ab,664
Jl2ddl (-80S 60,496 66,160 Ab,664
201 L2 AY| 21,736 20,680 1,056
01 AtR2elt] 20,736 19,680 1,056
OFNME&gI |28
40,0002 20 122 x90% 8,640
A2 R+ SAH|
8, 0003 x20F 64 12& 11,520




2A:

Haotsnt

. A2 3HI(oigorsn) (I1EHIIE
SRl J1=2ZHI(H oS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSSRWAHSRA) SA
8,0003 1 +641x 12 576
02 S3=gHl 1,000 1,000 0
OXZgH, SAD| S EHIsXl
200,000 %53 1,000
202 04| 34,560 41,280 26,720
01 =UHoi bl 34,560 41,280 £6,720
OIS 48 SO
20,0003 x20E *142] « 123 +50% 33,600
OOt =X WAHSRA) EF0|
20,0003+ 1H*43]x 123 960
203 =8| 4,200 4,200
M FAZHHIFII 4,200 4,200
ORMEZE =4 350,000& * 128 4,200
elHA2EH(0gotsn) 236,737 101,542 135,195
= 14,407
N 106,816
Al 20,555
- 94,959
Q12 HH|(OtS=XILA}) 46,937 47,542 2605
= 14,407
Al 7,203
- 25,327
101 @124H| 40,553 42,884 2,331
= 12,066
Al 6,033
- 22,454
03 SR (RIH )22 U2+ 40,553 41,618 A 1,065
OOLS=XWAHSRA) 2121 40,553
-JleEs 24,132,000 24,132
= 12,066
Al 6.033
- 6,033
- JlEa(7Hl it 8€3)
6,431,310& 6,432
- EsE 40,0002 128 480
- NS4l 140,000 ~ 128 1,680
- SEF0HI 2,546,943 x80% 2,038
- A2 R25E
21,328%%10AI12++ 123 2,560
RPN T= ) Sty
14,2193 +8AI 2t 17 1,934
- da0=s 3,410,673 *38% 1,297
04 HSRESS 6,384 4,658 1,726




=M OlE0IS It
A HHE2HHHI(GIL0ISDH) (DIEHIIE})
CHel: QI 2HH|(0IM0ISDH) (S &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 2,341
Al 1,170
- 2,873
M SR (I 22X BEa284=2 S 6,384 4,658 1,726
OOts=XLAHSRE) 400 BEEE
2,671,000& 2,671
= 1,336
Al 667
- 668
OOt==XWA(SRE) 400 2EEZ(FHl =
ot 2€32) 1,702,000& 1,702
OEAEES 2,011,000& 2,011
= 1,005
Al 503
- 503
QI 2HH|(OISESHERH) 133,520 54,000 79,520
Xl 106,816
Al 13,352
- 13,352
101 2124d| 133,520 54,000 79,520
Xl 106,816
Al 13,352
- 13,352
(02991 S ESEEES 133,520 54,000 79,520
OOlSESHEQA oIAHH|(AZHHE K|
X 0r=)(2%) 133,520,000& 133,520
Xl 106,816
Al 13,352
- 13,352
OlHESAL(BESMHIEER2II) 56,280 56,280
101 e124d| 56,280 56,280
02 JIEt& 24 56,280 56,280
OESHNYMESIHAIZHEEHAIH CH3)
orAHI (1Y) 56,280
-Jl2s 3,091,790 =128 37,102
- A2 8X| 1,890,000& 1,890
- oAl 140,000& x 12& 1,680
- el sl 525,000& 525
- S4xpig 20,5804 * 122 1,447
- s 140,000& «12& 1,680
- TR 11,3192 x5 A1 2H+ 12E 6,113
- HIL2 A 893,400& 8H
- 2|24l 20,0002 * 14 122 x60% 2,016
- Z0AAUBES 51,665, 1003 +3.495% 1,806




A HEOots
A HYRAZHI(HLZotS) (JIEH/IIE
chel: QlE2AHI(6A0tS1)
= - L=
S - B - SRA(SIH) - HSAY - BYS of et o
- IEEERESF 51,665, 1003 *1.75% 905
- LAIRALSES

1,805,6902%12.27% 222




